
Непосредственное интегрирование.  Внесение под знак дифференциала 

 

Найти интегралы 

  1) 1690.  
 



dx

x

x
3

3
1

;   Ответ:  Cxxxx  6

13

3

5

6

7

3

2

13

6

5

9

7

18

2

3
. 

  2) 1693.  


dx
x

xx

2

3223
;   Ответ:  Cx

x





5,1ln

)5,1(2
3 . 

  3) 1695.   
dx
xx

x
22 sincos

2cos
;   Ответ:  Cxx  tgctg . 

  4) 1707.    5)32( x

dx
;   Ответ:  C

x





4)32(

1

8

1
. 

  5) 1709.    dxx5 6)38( ; Ответ: Cx  511)38(
33

5
. 

  6) 1718.  



dx

xx

x

6532

56

2
; Ответ:  653 2  xx . 

  7) 1722.    xdxx 2sincos3 ; Ответ:  Cx  5cos
5

2
. 

  8) 1742.   1x

x

e

dxe
; Ответ:  Cex  )1ln( . 

  9) 1769.  
 x

x dx

41

2
; Ответ:  C

x


2ln

2arcsin
. 

10) 1773.  



dx

x

x

21

1
; Ответ:  Cxx  21arcsin . 

ДОПОЛНИТЕЛЬНО 

11)  


dx
xx

x
2)ln(

ln1
 

 


